Vodafone Router:

168 0.1: Bytes=32 Zeit=1ms TTL-64
,168,0.1: Bytes=32 Zeit=131ms TTL=64
.168.0.1: Bytes=32 Zeitelms TTL=64
2.168.0.1: Bytes=32 Zeit=56ms TTL=64
2.168,0.1: Bytes=32 Zeit=1ms TTL=64
P2.168.0.1: Bytes=32 Zeit=1ms TTL=64
92.168.0,1: Bytes=32 Zeit«ilms TTL=64
92.168.0.1: Bytes=32 Zeit=lms TTL=64
192 .168.0.1: Bytes=32 Zeit=1ms TTL=64
192.168,0,1: Bytes«32 Zeit=lms TTL=64
192.168,0,1: 8ytes=32 Zeit=1lms TTL=64
192,168.0.1: Bytes=32 Zeitelms TTL=64
192.,168.0.1: Bytes=32 Zeit«lms TTL=64
192.168.0.1: Bytes=32 Zeit=1ms TTL«64
192.168.0.1: Bytes=32 Zeitelms TTL=64
192.168,0.1: 8ytes=32 Zeitelms TTL-64
n 192.168.0.1: 8ytes=32 Zeitelms TTL=64
pn 192.168.0,1: 8ytes=32 Zeit=1ms TTL=64
on 192,168,0.1: Bytes=32 Zeit=1ms TTL-64
on 192.168.0.1: Bytes=32 Zeit«lms TTL-64
on 192.168.0.1: Bytes=32 Zeitelms TTL~64
on 192.168.0,1: Bytes=32 Zeit«lms TTL-64
von 192.,168.0.1: Bytes=32 Zeitelms TTL-64
von 192 .168.0,1: Bytes=32 Zeit=lms TTL-64
von 192.168,0.1: Bytes=32 Zeit=1lms TTL=64
von 192.168.0.1: Bytes«32 Zeit=1ms TTL=64
von 192,168,0.1: Bytes=32 Zeit«lms TTL-H4
€ von 192.168.0,1: Bytes=32 Zeit=lms TTL=64
T von 192.,168.0.1: Bytes=32 Zeit«lms TTL~64
T von 192.168.0.1: Bytes=32 Zeit=117ms TTL=064
rt von 192,168.0.1: Bytes=32 Zeit«lms TTL-64
von 192.168.0.1: Bytes«32 Zeit-8ms TTL=64
T von 192,168.0,1: Bytes=32 Zeit=lms TTL=64
re von 192.168.0.1: Bytes=32 Zeitedms TTL=64
ort von 192.168.0.1: 8ytes=32 Zeit<S5ms TTL«64
ort von 192.168,.0,1: Bytes=32 Zeitelms TTL-64
NOrt von 192.168.0.1: 8ytes=32 Zeit=lms TTL-64
wort von 192.168.0,1: 8yt 2 Zeit<lms TTL-64
wort von 192 ,168.0.1: 2 Zeitelms TTL=64
tWOrY von 192 ( 1 B 2 Zeit=0Oms TTL=G4
twory v ] . / 32 .’(\(—‘Im TTL=64
YLwort TTL=-64
32 /c \t_lms TTL=64
52 Zelt-1ms TTL=64
2 Zeit=2ms TTL«64
2 Zeit=-2ms TTL=64
Zait=1Ims TTL-GA
Zeltadms TTL-64

Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
ANtwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort
Antwort

ANTtworet v

Antwort
Antwort
Antwort
ANTWOrt
Antwort
ANntwort

Antwort
Antwort

Antwort
ANTwore
ANtwort

Antwort

2a00 1450 4005 803 :2003;: Zeit=31ms
2a00:1450:4005: 803"2003 Ze]t=116ms
2a00:1450:4005:803::2003: Zeit=32ms
2a00:1450:4005:803::2003: Zeit=50ms
2a00:1450:4005:803::2003: Zeit=43ms
2a00:1450:4005:803::2003: Zeit=27ms
2a00:1450:4005:803 003: Zeit=29ms
2a00:1450:4005:803::2003;: Zeit=27ms
2a00:1450:4005:803::2003: Zeit=28ms
2a00:1450:4005:80 2003: Zeit=30ms
2a00:1450:4005:803::2003: Zeit=29ms
2a00:1450:4005:803::2003: Zeit=29ms
2a00:1450:4005:803::2003: Zeit=29ms
2a00:1450:4005:803::2003: Zeit=30ms
2a00:1450:4005:803::2003: Zeit=30ms
2a00:1450:4005:803::2003: Zeit=30ms
2a00:1450:4005:803: :2003 zert 32ms
2a00:1450:4005:803::

ZaOO 1450 4005:803

2003: Zeit=28ms
2003: Zeit-29ms
2003: Zeit=29ms
2003: Zeit-28ms
2003: Zeit=30ms
3 2003: Zeit-28ms
2a00:1450:4005: 80 : Zeit=30ms
$ : : Zeit=32ms
: Zeit«140ms
! Zeit=-29ms
! Zeit=68ms
: Zeit=29ms
: : Zeit=36ms
2a00:1450:4005:803 : Zeit=29ms
2a00:1450:4005:803 03: Zeit=29ms
2a00:1450:4005: 803 03: Ze1r-79m5
2a00:1450:4005:803 s
’aOO 1450:4005:803
2a00:1450:4005:803
2a400:1450:4005: 80
450:4005: 80
450:4005:803:
450:4005:803;




Fritzbox 6490 Router:

0 17 ytes= =3 :
é%'§6 tes=32 zeit<lms TTL=64
"1e8.178.1: Bytes=32 Zeit<lms TTL=64
92.168. At By :
192.168.178.1: gytes=32 Zeit<lms TTL=64
192.168.178.1: Bytes=32 Zeit<lms TTL=64
192.168.178.1: Bytes=32 Zeit<lms TTL=64
192.168.178.1: Bytes=32 Zeit<lms TTL=64
192.168.178.1: Bytes=32 Zeit<ims TTL=64
192.168.178.1: Bytes=32 Zeit<lms TTL=64
192.168.178.1: Bytes=32 Zeit<lms TTL=64
192.168.178.1: Bytes=32 Zeit<lms TTL=64
n 192.168.178.1: Bytes=32 Zeit<lms TTL=64
bn 192.168.178.1: Bytes=32 Zeit<lms TTL=64
bn 192.168.178.1: Bytes=32 Zeit<lms TTL=64
on 102.168.178.1: Bytes=32 Zeit<lms TTL=64
on 192.168.178.1: Bytes=32 Zeit<lims TTL=64
on 192.168.178.1: Bytes=32 Zeit<lms TTL=64
von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
von 102.168.178.1: Bytes=32 Zeit<lms TTL=64
von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
von 192.168.178.1: Bytes=32 Zeit<ims TTL=64
von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
t von 192.168.178.1: Bytes=32 Zeit<ims TTL=064
T von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
€ von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
rt von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
rt von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
brt von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
ort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
ort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
ort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
ort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
wort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
wort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
wort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
twort von 192.168,178.1: Bytes=32 Zeit<lms TTL=64
twort von 192.,168,178.1: Bytes=32 Zeit<lms TTL=64
wort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
ntwort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
ntwort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
:nxwor} von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
Antwort von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
;“fﬁ“r} von 192 .168.178.1: Bytes=32 Zeit<lms TTL=64
\NIWOrt von 192.168.178.1: Bytes=32 Zeit<lms TTL=64
" : von 1?).\68.178.1: Bytes=32 Zeit<lms TTL=64
bl Xgﬁ-\?i-\lg-gi Bytes=32 Zeit<lms TTL=64
X 4 g b B2 es= Zei 7
OrT von 192 .,168.178.1: B§\05;32 Leiiiiﬁi Tit-gg

V

Antwort von
Antwort von

Antwort von 172.217

t von 172.217.
Antwor ‘18,

Antwort von 172.217

Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172,217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
lAntwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
/Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172,217.
Antwort von 172.217. %
Antwort von 172.217.18.
Antwort von 172.217.
Antwort von 172.217.
Antwort von 172.217.

18

18
8.

172.217.18.3:
172.21;.
Antwort von 1724207

Antwort von 1722 X

3
e ¥y

18.
18.

18.

Bytes=32 Ze1t=3UN =
Bytes=32 Zeit=32ms TTL=53
Bytes=32 Zeit=33ms TTL=53
Bytes=32 Zeit=31ms TTL=53
Bytes=32 Zejt=31ms TTL=53
Bytes=32 Zeit=34ms TTL=53
Bytes=32 Zeit=31ms TTL=53
Bytes=32 Zeit=37ms TTL=53
Bytes=32 Zeit=30ms TTL=53
Bytes=32 Zeit=30ms TTL=53
Bytes=32 Zeit=32ms TTL=53
Bytes=32 Zeit=31ms TTL=53
Bytes=32 Zeit=32ms TTL=53
Bytes=32 Zeit=29ms TTL=53
Bytes=32 Zeit=29ms TTL=53
Bytes=32 Zeit=38ms TTL=53
Bytes=32 Zeit=30ms TTL=53

Bytes=32 Zeit=29ms TTL=53

Bytes=32 Zeit=29ms TTL=53
Bytes=32 Zeit=28ms TTL=53
Bytes=32 Zeit=32ms TTL=53
Bytes=32 Zeit=31ms TTL=53
Bytes=32 Zeit=31ms TTL=53
Bytes=32 Zeit=32ms TTL=53

: Bytes=32 Zeit=30ms TTL=53

Bytes=32 Zeit=29ms TTL=53
Bytes=32 Zeit=30ms TTL=53
Bytes=32 Zeit=32ms TTL=53
Bytes=32 Zeit=32ms TTL=53
Bytes=32 Zeit=29ms TTL=53

! Bytes=32 Zeit=29ms TTL=53
: Bytes=32 Zeit=28ms TTL=53
: Bytes=32 Zeit=35ms TTL=53
: Bytes=32 Zeit=29ms TTL=53

Bytes=32 Zeit=30ms TTL=53

: Bytes=32 Zeit=29ms TTL=53
: Bytes=32 Zei

: Bytes=32 Zzei

: Bytes=32 Zeit=30ms TTL=53
i Bytes=32 Zeit=32ms TTL=53

Bytes=32 Zeit=29ms TTL=53

! Bytes=32 Zeit=31ms TTL=53
! Bytes=32 Zeit=30ms TTL

: Bytes=32 Zeit=30ms TTL
: Bytes=32 Zeit=31ms TTL
! Bytes=32 Zeit=30ms




